EERLAR—F KECAMBEIIRIEZEREZEZFEERKE

S7E3IA28~30H

2FEEBFREAANF EREFNERBLE
ROUND2-G1

JIEAL % Hi i I Total
1 PR R TR I TNV T T 24. 60
2 |=R0 FER NS =—/3A R 24. 20
3 |#&REE HR BB TN T T 24. 00
4 |FEH R KERIEF =—/RA R 23. 80
5 | B R == XA R 22.70
6 |JTJR kBE E IR Tt 22. 60
T [T Fw PN =R 22.20
8 |mi it REA I TN T 7 21. 30
ROUND2-G2
= 4 i BT & Y4 Total
1| FHEE dbifEiE T 25. 10
2 M HORUHD e 25. 00
3| K% LR FeJi I =—/RA R 23. 80
4 |RH S 2 ] S e 23. 30
5 [JEH N =—/3A R 22. 80
6 |+& #Ek T TNV T T 22. 60
(O ) Nl e 22. 40
8 |PPE —%E K I T B 21. 40




EERLAR—F KECAMBEIIRIEZEREZEZFEERKE

S7E3IA28~30H

2FEEBFREAANF EREFNERBLE
ROUND2-G3

JIEAL % Hi i I Total
1 |hs BR FeJi I TNV T T 24. 80
2 |laF EX TN TN Ty 24. 40
3 kI R N =—/3A R 24. 00
4 |=H 3 TR I TN Ty 23. 90
5 |l T% DIENES e 23. 10
6 ol AEE FBIR e 22. 90
T =E A gl =—/ AR 22. 50
8 |fmH HEZIT PG IR TN Ty 22. 20
ROUND2-G4
= 4 i BT & Y4 Total
1 |Ef BRI HORCHR TE 24. 50
2 (&7 2 NS =—/RA R 24. 30
3 |EAK &K A ] U TNV T T 24. 00
4 v EA R =—/RA R 23. 00
5 [FFH 2 TRy IR =—/RA R 22. 60
6 |J&3 BB R TN T 7 22. 40
T O|EE REL B IR ==/ AR 21. 30
8 (Ml YRE ] Bk ==/ R 21. 10




fERLR—k

RECARF I EEEFAEZEFERRKR

SH7E3A28~30H

2FEBFEANF ERELEAFTE
ROUND2-G5
NEAE 4 Hi GIE: % 4 Total
1 [BER H= BT T 24. 90
2 |BtiEsE OKEE JHR UL TNV T T 24. 20
3 M Lt A U TN T 7 23.60
4 e ER JE I Ik == R 23. 40
5 |=F &tk TR == R 22. 50
6 |VopE BEEK B F IR Tt 22. 50
7 |KH &KIKEA IR e 22. 30
8 |RAS PRI REAC IR T 22. 30
ROUND2-G6

gz 4 Hi & A Total
L[ ZERk NS == AR 24. 20
2 | X% JeitmE Tz 23. 80
3|V EER i i) e == R 23. 50
4 (HEF K RFEP IR Tzt 23. 50
5 |fkH P21 Bk TNV T T 23. 30
6 R -2 SUHDIRS ==X R 22.70
TR & i U zE 22. 50
8 |\ KK it Tt 21. 60




EERLAR—F KECAMBEIIRIEZEREZEZFEERKE

S7E3IA28~30H

2FEEBFREAANF EREFNERBLE
ROUND2-G7

NEAE 4 Hi g ¥4 Total
1| 'K T I == R 25. 50
2 IEAK FEK BT e 25. 00
3% W HUARIE NN T T 23.70
4 |KWE FHHE HIBLIR == R 23. 60
5 KA BER IIE=py =—/SA R 23. 40
6 [l AKX BRI SV 23. 40
T\ R g B2 I =—/3A R 22. 80
8 |mfl KM RN T 22. 80
ROUND2-G8
gz 4 Hi & ¥4 Total
1 [ B T R I T T 25. 30
2 | FHr 58 JE I Ik == R 23. 70
3|t Bk NS TN T T 23. 70
4 [EES = B zor 23.10
5 | BE ez I == AR 22. 80
6 Sl EOKH i ] U IV T T 22. 60
T |EE T REPIR Tt 22. 50
8 [&xA AR R =—/8A R 21. 30




